CHAPTER V

CONCLUSION

In this thesis,we have the following result.

1. For nonzero ag, a1, ar € C, and nonzero tripotent matrices Tg, 11, Ty € M,(C)
satisfying the commutativity property, let A be their linear combination of the

form

A = apgTy + o117 + a7, (3.2.1)
'The matrix A is tripotent if and only if one of the following conditions holds:
(a} ap =1,a1 = —-l,ap = ~lorag=—1,a; = —1,a; = 1 and
(T~ Ta) = Th(Th = To)* = ~T3(T1 ~ Tz},
by ag=1,a0 = =209 =4 orag=~1,0; = —2,09 = 4 and
To(T — 2T3) = (T) — 2Th) = To(Ty — 213)?,
(¢) ag=2,0p=~2,ap=10ray=~2,a)=~2,0, =1 and
T5(Te ~ 1) =Ty = To(T ~ Th)?,
(d) ap=1,a; = a9 =1o0rag=—-1.0; = 1,0 =1 and
(T + 1) = ~To(Th + T»)?,
() ap=1,a1 =2,ap =4 orag = ~1,a; = 2,09 = 4 and

e+ )= (N +T2) = ~TH(Ty +T)%,

(f) ap=2,01 =2, ap=10r ag = —2,a, = 2,a9 = 1 and

T2 + 1) = Ty = =T2(271 + T»),
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(8) ap=34.a1 = 1,00 3 Orap = —1,01 = 3,03 = 1 and
TOQ %Tl t %Tz) = (%Tl e %Tg),To(%Tl -+ %Tg)z = T,
Gy = 3,01 = —3, 4y = 0rag = —3,a, = —,ap =  and
T{%(%ﬂ - %Tz) = (%Tl - §T2),Tﬂ(%T1 - %T2)2 == T

Let ¢; and ¢ be nonzero complex number. Let A and B be nonzero complex
matrices and ¢; A+ B = C satisfy A* = A, BS = B, AB = BA, A# B, and
C?=C.Then B?=Bor B*= B,

Toneof Aor BorCisidempotent (or tripotent) and the combination A, B and

C 1s idempotent (or tripotent}, then the others matrices must be idempotent

{or tripotent).

Let Az, ..., A, be ty, ..., ty-potent respectively. If combination of As,..., A,
is idempotent and one of Ay,..., A, is idempotent {or tripotent}) and the

combination Ay, ..., 4, isidempotent, then A;, ..., A, each the other matrices

must be iderapotent (or tripotent),





